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reactants are used up in the reaction. HOWEVER sometimes chemical reactions are
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Example 1. If for the synthesns reaction between hydrogen gas and

oxygen gas, 20.0 g of Hz (g) reacts with 100.0 g of 02 (g), which reactant

is in excess and by how much? What nass D‘F vuanL@V (s made
Step 1. Write out the balanced equation:
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Step 2. Use both masses to solve for the mass of the same product

200 g, [ fl-Vvo HL)(ZW\Q r{bo)< l?.og H]D>: 13D 4 T O

2wl H
®>< Loy 2l oy Ao ts o) 113 v |«

Step 3. The substance that produces the least amount of product is the LIMITING
- REACTANT
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Step 4. To determine the amount of EXCESS REACTANT use the mass of the limiting
reactant to solve for the actual mass of exc %
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Step 5. Subtract the above value from the amount of excess you have.
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Example 2. If 56.8 grams of FeCl, , 14.0 g of KNO3 and 40.0 g of HCI are
mixed and allowed to react according to the equation:

3 FeCl, + KNO3 + 4 HCI --> 3 FeClz + NO +<2 H,0 )- KCI
Which reactants are in excess and by how much? fr = 14-© g
Step 1. Write out the balanced equation: < (o= le©°

’ NO
SR Cl 40, 4 YH 1 — 3 fecly + 2 H o+ kel 30-0g !

Step 2. Use all masses to solve for the mass of the san same product
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Step 3. The substance that produces the least amount of product is the LIMITING
REACTANT
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Step 4. To determine the amount of EXCESS REACTANTS use the mass of the
limiting reactant to solve for the actual mass of the excess dsed)

Lol £ [ 3l Fcc(L(jﬁﬁ_ Call
M‘Oﬁ \CN% (LOIJB >( | vl ma) | nol Rl FQC(j

JV{on bwbj JERES | Ao Lfm ol ><%é§ Bg Qtlaj
oL g Il D Id HC H el

Step 5. Subtract the above values from the amount of excesses that you have.
lld over = horve — wse d
@ N (o . C/ - . %C\ =
90@4 > 9 %SF@(Q* S2- g L

409 g Hol = 9024 Hel 2/[%5?ch7

Het —

PRE—

Exedb- 20 pgs 1237134



